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A) (3marks) Each one for the name of scientist
1- Kekule (one mark)
2- Heisenberg (one mark)
3- Ostwald (one mark)

B) (4marks)
1- (Zmarks)

3 carbon atoms = 2x3 + 2 = 8 atoms

The formula of alkane is  C;Hjy

The percentage of carbon= 3—2?—

2- (2marks)
a- Asprine  (one mark)
b- Pecric acid (one mark)

C) (2marks)

2. 2A1°" +6¢ — 2Al

H
D) (Imark)

2K +£ 0, —» K0

Dissolvied in liquid ammonia

Addition of half mole of oxygen

\—

1- 307 —— 3/20,+6¢

3. 307 4241 ——3/20,+24Al
2C+320, -2 co,t + cot

The general formula of alkanes C, Hzns2

Number of hydrogen atoms in the alkane which contains

The molecular mass= 3 x12 + 8x1=44 gm

x 100 =81.8%
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(V4 mark)
(%2 mark)

(%2 mark)

(% mark)

(% mark)
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A
A) (5marks) (each one has one mark).
1- orthophosphoric acid , Sulphuric acid , perchloric acid. e
PO(OH); , SOyOH), , ClOOH)

Because the number of oxygen atoms which is not bind with hydrogen in sulphuric
is more than orthophosphoric acid and less than perchloric acid (one mark).

2-There are no positive hydrogen atoms (protons)
In aqueous solutionsfor strong acids due to its binding with molecules of water by
coordinate bonds to form hydronium ion(one mark).

3-The catalyst does not affect on reversible reactions equilibrium because it changes
reaction speed only without change the equilibrium position(one mark).

4-Nickel cadmium battary is basic because the electrolyte
Solution is potassium hydroxide (basic) but in lead battary the electrolyte is
sulphuric acids (acidic) (one mark).

5-The ions of S,P blocks are uncolored where the colored substance is present if the
number of elccBrons in (d) sublevel are ra.ngled between 1- 9 electrons .
In (s) block (d)’ empty and in (P) block (d)'° completely filled , so its ions are not
colored . (one markg’

B) (3 mark) (each comparison 1 mark). o
1- Organic compounds Inorganic compounds
Not dissolve in water ,but soluble in Most are soluble in water 7
organic solvents e.g (% mark)
benzene (¥ mark) o
2- Complete reactions Reveversible reactions
1-Produced in one direction only In two directions
2-one of products escapes from the Reactants and products are found in reaction
reaction medium medium.
Ex : Mg+H,S0,—MgSO; +H,1 CH;COOH+C,HsOH«CH;COOC,Hs+H,0
NaCl + AgNO; —AgCl |+ NaNO; | (Y2 mark)
(%2 mark) dagaaasaal g 4 ey S

Electrons occupy the sublevels in the | No electron pairing takes place in a given
order of increasing their lowest energy | sublevel until each orbital contains one
sublevels lower levels are filled electron.(¥2 mark)

first.(%2 mark)

3- Building up principle (Aufbau) | Hund’s rule

N

C) (2marks)

1- Structural formula for naphthaline is (%2 mark)
2- Structural formula for diphenyl is (%2 mark)

They are not isomers (%2 mark) due to different molecular formula for each of
them (CjoHs naphthaline - C;;H)o diphenyl) (Y% mark)
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A) (3mark)

1- Le Chatelier’s principle: The changes in any chemical equilibium conditions such
as concentration, pressure, or temperature cause shift of the equilibrium in the
direction which will oppose this change. (one mark)

2- Substitutional alloys: alloys in which some atoms of the pure metal are replaced by
the atoms of the metal added where all atoms of the alloy have the same diameter,
crystalline structure and chemical properties. ex : (gold and copper) (one mark)

3- Hybridization: It is the overlap between two different orbitals or more of the same
atom to produce a number of new atomic orbitals called hybride orbitals. (one mark)

B) (2mark)

1- Electron affinity equation
X + e — X +energy (one mark)

2- Second ionization poten‘ual equation
M +energy — M + ¢ (one mark)

C) (3mark)

1-The reaction of ethyne with hydrogen bromide takes place at two steps where the
triple bond changes to double bond in first step then to single bond in the second step.
(% mark)

H H
2. H-C=C-H +HBr —> ¢=& (% mark)
ke
é é + HBr — CH;—CHBr; (¥ mark)
Bl

3- The name of the compound resulted according to [UPAC system is : 1,1 dibromo
ethan (one mark)
4- When 5 moles of hydrogen bromide is added to 1 mole of ethyne then 2 moles only

are reacted and 3 moles of hydrogen bromide are remained without reaction (% mark)
D) (2marks)
The equivalent wight of iron = atomic mass + valency
=55.86+3=18.62gm (% mark)
To precipitate i
18.62 gm of iron ~———» 96500 coulomb
11.2 gmofiron ——— X coulomb (% mark)

Mass of substance precipitate x 96500
equivalent weight of substance

(% mark)

Quantity of electricity (in coloumb) =

11.2 x 96500
18.62

= 58045.1 coulombs (¥ mark)
Ll ¥l zaged el )
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Quantity of electricity (in coloumb) =





